Dezimalzahlen multiplizieren (mit 10, 100 oder 1 000) [1]

Dezimalzahlen

Aufgabe 1 Aufgabe 2
1. 886 « 1000 = 1. 841 « 10 =
2. 1,28 = 1000 = 2. 981 « 10 =
3. 161 « 1000 = 3. 255 « 100 =
4. 8,46 « 1000 = 4. 595 « 10 =
5623 « 100 = 5 342 « 10 =
6. 980 ¢ 1000 = 6. 4,30 ¢ 1000 =
7. 827 o 10 = 7.134 « 10 =
8. 641 « 10 = 8. 638 ¢ 1000 =
9. FFF o 10 = 9. 3,42 « 100 =
0. 1,66 « 10 = 10. 1,43 « 1000 =
Aufgabe 3 Aufgabe 4
1. 954 « 10 = . 381 « 10 =
2. 4,73 « 100 = 2. 440 « 10 =
3. 1,70 « 100 = 3. 947 e« 1000 =
4. 170 ¢ 10 = 4. 566 « 10 =
5 865 ¢« 10 = 5 530 < 1000 =
6131 « 100 = 6. 3,83 ¢ 100 =
7. 1,80 « 100 = 7. 282 « 100 =
8. 876 « 1000 = 8. 940 - 100 =
9. FF1 o 10 = 9. 293 « 10 =
0. 898 « 10 = 0. 854 e« 100 =
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Dezimalzahlen multiplizieren (mit 10, 100 oder 1 000) [1] |
ANTWORTEN

Dezimalzahlen

Aufgabe 1 Aufgabe 2
1. 886 1 000 = 8860 1. 8,41 e 10 = 84,1
2. 1,28 o 1 000 = 11280 2. 9,81 . 10 = 98,1
3. 1,61 . 1 000 = 1610 3. 255 . 100 = 255
4. 8,46 e 1 000 = 8460 4. 595 10 = 59,5
5. 623 100 = 623 5. 342 - 10 = 34,2
6. 280 - 1 000 = 9800 6. 430 - 1 000 = 4300
7. 827 10 = 82,7 7. 134 10 = 13,4
8. 641 o 10 = 64,1 8. 638 1 000 = 6380
9. FFF e 10 = 77,7 9. 342 - 100 = 342
10. 1,65 o 10 = 16,5 10. 1,43 1 000 = 1430
Aufgabe 3 Aufgabe 4
1. 954 e 10 = 95,4 1. 3,81 . 10 = 38,1
2. 4,73 o 100 = 473 2. 4,40 o 10 = 44
3. 1,70 o 100 = 170 3. 947 o 1000 = 9470
<. 7,70 e 10 = 77 4. 566 10 = 56,6
5. 865 o 10 = 86,5 5. 530 - 1000 = 5300
6. 1,31 . 100 = 131 6. 3,83 . 100 = 383
7. 1,80 o 100 = 180 7. 282 e 100 = 282
8. 876 o 1 000 = 8760 8. 940 o 100 = 940
9. 7,71 . 10 = 771 9. 2,93 . 10 = 29,3
10. 898 o 10 = 89,8 10. 854 o 100 = 854
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